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L. ®nn 29's ruling about huts and the ensuing discussion
a. o measured from their doorway
i. In other words: dwellers in temporary huts do not constitute a city; 2000 mn» is measured from the hut
ii. Challenge (n”): per v. 1 (and nw17 of 1N "), 13 would go outside of ninn (even on naw) to relieve themselves
1.Defense (827): due to “guidance” of 13y (v. 2), camp was considered a fixed location
a) Tangent: downside of nomadic life (v. 3)
b) Tangent: qualities to seek in cities — some types of vegetables (easy to grow, leaving time for study)
c) And:no steep hills (hasten aging)
II. Method of squaring the city
a. 7 a1y anoviT. square in synch with compass,
i. »or ’r use solar arc as a guide (v. 4)
ii. ~7mx use constellations (297y= scorpio; 7151y = ursa)
1.Tangent: discussion re: solar orbit and timing of solstices and equinox
b. »:7 p2ryy nraowur. when squaring a city, imagine a square around the city, circumscribing the town
i. Thus: gaining the corners
ii. Then: reckon the 2Kmnr from the corners, rather than the broad side of the border
1.Thus: gaining a total of 1200 mn on each side
a) s that number of gained mnx only works if the town is 2000x2000
b) Note: there are significant disagreements among the nwx1 as how to interpret this passage
III. Enigmatic statement of 017 72 1298 "3 (v:1 1P27Y RNavIN)
a. 02157 »7v: 2000 mnR of perimeter, of which inner 1000 are classified as "w1n” (vv. 5-6), rest are fields and vineyards
i. Conclusion: the wan is Y4 of the area and % is DRIy M7V
1.Source: 11 —v. 5 > should be a circle of 1000 mnRr around the town
ii. Challenge: thatisn’t ¥4, it's V5
1.Solution (X273, heard from a surveyor): only works in a round city with a diameter of 2Kmmnx
a) wumis 9K square mnr and the city with its surrounding area totals 36K square mnx
2.Solution2 (»ax): round city with diameter of 1K mnx. w1n is 6K out of a total of 24K sq. mnr
3.Solution3 (»237): square city of 2K mnr per side
a) v only reckoned on the sides (8K), not the corners — total area is 32K
4.Solution4 (»wn "7): square city of 2K square city of 2K mnr per side
a) wum Only corners reckoned — wan is 4K; total corners area 16K
b) Challenge: v. 5 uses 1220 — not squared
i. Answer: just like 2220 in v. 7 (corners of the altar) — means “around the corners”
iii. Challenge: if we square the city and have a round perimeter for w1, the wain is less than 1000 mnx
1. Answer: if the city was round, it gains that amount
2.Challenge: we said that we square around it
a) Answer: we don’t really square it — we just imagine it square for purposes of mnn
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